CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

DATA HANDLING 2

1. A batsman scored the following number of runs in six
innings: 36, 35, 50, 46, 60, 55 Calculate the mean runs

scored by him in an inning.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1IbozS7N1p2N

2. If the heights of 5 persons are 144 cm, 152 cm, 151 cm,

158 cm and 155 cm respectively. Find the mean height.

o Watch Video Solution

3. Find the arithmetic mean of first 6 natural numbers.

o Watch Video Solution

4. Find the mean of the first five whole numbers

o Watch Video Solution



https://dl.doubtnut.com/l/_oKRWKmPKoZ8s
https://dl.doubtnut.com/l/_ezwJx0SilLHP
https://dl.doubtnut.com/l/_lLitmcHXj3RW

5.The ages in years of 10 teachers of a school are: 32, 41,
28, 54, 35, 26, 23, 33, 38,40

(i) What is the age of the oldest teacher and that of the
youngest teacher?

(i) What is the range of the ages of the teachers?

(iii) What is the mean age of these teachers?

O Watch Video Solution

6. The heights of 10 girls were measured in cm and the
results are as follows: 135, 150, 139, 128, 151, 132, 146, 149,
143, 141.

(i) What is the height of the tallest girl?


https://dl.doubtnut.com/l/_mw0axWBXl8pO
https://dl.doubtnut.com/l/_W4QRgkO16tWJ

(i) What is the height of the shortest girl?

(iii) What is the range of the data?

o Watch Video Solution

7. If the mean of is , find the value of

o Watch Video Solution

8.If the mean of 6, 4, 7, pand 10 is 8 Find the value of p.

A1

B.12

C.13


https://dl.doubtnut.com/l/_W4QRgkO16tWJ
https://dl.doubtnut.com/l/_BfDHDAIdvlFY
https://dl.doubtnut.com/l/_lF8x0l8Q3kFD

D.14

Answer: C

o Watch Video Solution

9. The mean of 10 numbers is 20. If 5 is subtracted from

every number, what will be the new mean?

o Watch Video Solution

10. The mean of 16 numbers is 8. If 2 is added to every

number, what will be the new mean?

o Watch Video Solution



https://dl.doubtnut.com/l/_lF8x0l8Q3kFD
https://dl.doubtnut.com/l/_BSo6vsBhrlGP
https://dl.doubtnut.com/l/_lQ3pe0vR3sey

1. If the mean of five observation
r,x+2,x+4,x+ 6,x + 8is 11, find the mean of first

three observations.

° Watch Video Solution

12. The mean of 40 observation was 160. It was detected
on re-checking that the value 165 wrongly copied as 125

for computation of mean. Find correct mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_lQ3pe0vR3sey
https://dl.doubtnut.com/l/_nfsc0F85J0ax
https://dl.doubtnut.com/l/_UvXG5YaEEQj8

13. Following table shows the points of scores each

player plays: Player Game 1 Game 2 Game
3 Game4A 14 16 10

10 B 0 8 6 4
C 8 11 Did not play 13 Find the

average scores of three players. Who is the best

performer?

o Watch Video Solution

14. Ashish studies for 4 hours, 5 hours and 3 hours
respectively on three consecutive days. How many hours

does he study daily on an average?

o Watch Video Solution



https://dl.doubtnut.com/l/_Vi1jP2P36I7z
https://dl.doubtnut.com/l/_QcvHcmmiXddW

15. A cricketer scores the following runs in eight innings:

58, 76, 40, 35, 46, 45, 0, 100. Find the mean score.

o Watch Video Solution

16. The marks (out of 100) obtained by a group of
students in a science test are 85, 76,90, 85, 39, 48, 56, 95,
81 and 75. Find the: (i) Highest and the lowest marks
obtained by the students. (ii) Range of the marks

obtained. (iii)) Mean marks obtain

o Watch Video Solution



https://dl.doubtnut.com/l/_QcvHcmmiXddW
https://dl.doubtnut.com/l/_ur72ojBiJgXd
https://dl.doubtnut.com/l/_DnnHelIeIweQ
https://dl.doubtnut.com/l/_SxFlxjS0hdA8

17. The enrolment in a school during six consecutive
years was as follows: 1555, 1670, 1750, 2013, 2540, 2820

Find the mean enrolment of the school for this period

o Watch Video Solution

18. The rainfall (in mm) in a city on 7 days of a certain
week was recorded as follows: (i) Find the range of the
rainfall in the above data. (ii) Find the mean rainfall for
the week. (iii) On how many days was the rainfall less

than the mean rainfal

o Watch Video Solution



https://dl.doubtnut.com/l/_SxFlxjS0hdA8
https://dl.doubtnut.com/l/_linYSVypEtKF

19. If the heights of 5 persons are 140 cm, 150 cm, 152 cm,

158 cm and 161 cm respectively, find the mean height.

o Watch Video Solution

20. Find the mean of 994, 996, 998, 1002 and 1000

o Watch Video Solution

21. Find the mean of first five natural numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hc5hkcT1LWjg
https://dl.doubtnut.com/l/_SrMUFQwxRo66
https://dl.doubtnut.com/l/_I3CPmNs3YSyr

22.Find the mean of all factors of 10.

° Watch Video Solution

23. Find the mean of first 10 even natural numbers.

A.10

B. 11

C.12

D.13

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mPIY2OsrgLGC
https://dl.doubtnut.com/l/_huZTizf45hra

24.Find themeanofx,  +2, x +4, z +6, = + 8

° Watch Video Solution

25. Find the mean of first five multiples of 3.

o Watch Video Solution

26. Following are the weights (in kg) of 10 new born
babies in a hospital on a particular day: 3.4, 3.6, 4.2, 4.5,

3.9,41,3.8,4.5,4.4,3.6.Find the mean .

o Watch Video Solution



https://dl.doubtnut.com/l/_Iry420OzHvL0
https://dl.doubtnut.com/l/_zNajmGo3lPou
https://dl.doubtnut.com/l/_TBCjYfDsHucI
https://dl.doubtnut.com/l/_0XnolcfiZWAt

27. The percentage of marks obtained by students of a
class in mathematics are: 64, 36, 47, 23, 0, 19, 81, 93, 72,

35, 3, 1. Find their mean.

o Watch Video Solution

28. The number of children in 10 families of a locality are
2,43,4,2,03,5]1,6. Find the mean number of children per

family.

o Watch Video Solution

29. The mean of marks scored by 100 students was

found to be 40. Later on it was discovered that a score


https://dl.doubtnut.com/l/_0XnolcfiZWAt
https://dl.doubtnut.com/l/_j0UONEBuFzNN
https://dl.doubtnut.com/l/_hCFtqvJ5sOoO

of 53 was misread as 83. Find the correct mean.

o Watch Video Solution

30. The mean of five numbers is 27. If one number is

excluded, their mean is 25.Find the excluded number.

o Watch Video Solution

31. The mean weight per student in a group of 7
students is 55 kg. The individual weights of 6 of them (in
kg) are 52, 54, 53, 56 and 54. Find the weight of the

seventh student.

o Watch Video Solution



https://dl.doubtnut.com/l/_hCFtqvJ5sOoO
https://dl.doubtnut.com/l/_UWKjEC1EN5H7
https://dl.doubtnut.com/l/_pKfU2hf9NalF

32. The mean weight of 8 numbers is 15. If each number

is multiplied by 2, what will be the new mean?

o Watch Video Solution

33. The mean of 5 numbers is 18. If one number is

excluded, their mean is 16. Find the excluded number.

o Watch Video Solution

34. The mean of 200 items was 50. Later on, it was
discovered that the two items were misread as 92 and 8

instead of 192 and 88. Find the correct mean.


https://dl.doubtnut.com/l/_pKfU2hf9NalF
https://dl.doubtnut.com/l/_0Pt4bwl7Hi4T
https://dl.doubtnut.com/l/_C1KqxYDmyT3T
https://dl.doubtnut.com/l/_OFnozGL4i8Xb

o Watch Video Solution

35. The mean of five numbers is 27. If one number is

excluded, their mean is 25. Find the excluded number.

o Watch Video Solution

36. The mean of 75 numbers is 35. If each number is

multiplied by 4, find the new mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_OFnozGL4i8Xb
https://dl.doubtnut.com/l/_p65cjY7XC9Uf
https://dl.doubtnut.com/l/_0NziGKl9My5e

37. Organise the following marks in a class assessment,
in a tabular form. ](i) Which number is the highest? (ii)
Which number is the lowest? (iii) What is the range of

the data? (iv) Find the arithmetic mean.

o Watch Video Solution

38. Given below are the ages of 25 students of class VIl
in a school. Prepare a discrete frequency distribution.
15,16,16,14,17,17,16,15,15,16,17,15, 17

16,16,14,16,15,14,17,15,16,15,14,15.

o Watch Video Solution



https://dl.doubtnut.com/l/_emt3eZ5ba1DP
https://dl.doubtnut.com/l/_68ngUcVzALPo
https://dl.doubtnut.com/l/_gQ5E2apAww8A

39. Find the mean of the following distribution:
4 6 9 10 15 5 10

10 7 8

o Watch Video Solution

40. Following table shows the weight of 12 students:
Weight (in kgs) 67 70 72 73 75 Number of Students: 4 3 2

2 1 Find the mean weight of the students.

o Watch Video Solution

41. Find the mean of the following distribution:

10 30 50 70 89


https://dl.doubtnut.com/l/_gQ5E2apAww8A
https://dl.doubtnut.com/l/_Skc27BNZSx7s
https://dl.doubtnut.com/l/_FHehJM0czcvZ

7 8 10 15 10

o Watch Video Solution

42.1f the mean of the following distribution is 6, find the

value of x.

A. 27

B. 28

C. 29

D.30

Answer: A


https://dl.doubtnut.com/l/_FHehJM0czcvZ
https://dl.doubtnut.com/l/_oii4XOQanTjm

o Watch Video Solution

43. Find the value of p if the mean of the following

distribution is 7.5. 3 5 7 9
11 13 f: 6 8 15 p
8 4

° Watch Video Solution

44. A die was thrown 20 times and the following scores
were recorded: 2,1,5,2,4,3,6,1,4,2,5,1,6,2,6, 3,5, 4,1
and 3. Prepare the frequency table of the scores on the

upper face of the die

| o Wiak~h \NiAdan CAaliikian



https://dl.doubtnut.com/l/_oii4XOQanTjm
https://dl.doubtnut.com/l/_vXATgIlK50Qu
https://dl.doubtnut.com/l/_U3MRa8Ebql2k

L YvGULlll VIMGY JVIVGIVIE ) |

45. Following figures relate the weekly wages (in Rs.) of
15 workers in a factory:
300,250,200,250,200,150,350,200,250,200,150,300,150,200,250
Prepare a frequency table. What is the range in wages
(in Rs.) How many workers are getting Rs. 3507 How

many workers are getting the minimum wages?

o Watch Video Solution

46. The following table shows the weights (in kg) of 15
workers in a factory: Weight (in kg): 60 63
66 72 75 Numbers of workers: 4 5

3 1 2 Calculate the mean weight.


https://dl.doubtnut.com/l/_U3MRa8Ebql2k
https://dl.doubtnut.com/l/_J7nLXbJyGKvb
https://dl.doubtnut.com/l/_EludwDjwEOTa

o Watch Video Solution

47. The ages (in years) of 50 students of a class in a
school are given below:

Age (in years): 14 15 16 17 18
Numbers of students: 15 14 10 8 3

Find the mean age.

o Watch Video Solution

48. Calculate the mean for the following distribution:
5 6 7 8 9 4 8

14 11 3

| o Wiakt~h \NiAdan CAaliikian



https://dl.doubtnut.com/l/_EludwDjwEOTa
https://dl.doubtnut.com/l/_i0WTBe246Z5V
https://dl.doubtnut.com/l/_E3IiA10N4Sqj

| & YvULlll VIMGY JVIVGIVIE

49.Find the mean of the following data:

21 23 25 27 29 31

16 18 16 15 13

19

13 15

° Watch Video Solution

50. The mean of the following data is 20.6. Find the value

of 10 15 p 25 35

25 7 5

10

o Watch Video Solution



https://dl.doubtnut.com/l/_E3IiA10N4Sqj
https://dl.doubtnut.com/l/_nU8Gc4NTXQOy
https://dl.doubtnut.com/l/_MRT5H4YCnxgZ

51. If the mean of the following data is 15, find

o Watch Video Solution

52. Find the value of p for the following distribution

whose mean is 16.6 8 12 15 20
25 30 12 16 20 24 16 8
4

° Watch Video Solution

53. Find the missing value of for the following

distribution whose mean is 12.58 5 8


https://dl.doubtnut.com/l/_d71onzEpEaJn
https://dl.doubtnut.com/l/_GLrteMvKvuHy
https://dl.doubtnut.com/l/_QnK7Vi9S7nFf

10 12 20 25 2 5 8

22 7 4 2

o Watch Video Solution

54. Find the missing frequency for the following

distribution whose mean is 7.68

o Watch Video Solution

55. Find the value of p, if the mean of the following

distribution is 20 15 17 19


https://dl.doubtnut.com/l/_QnK7Vi9S7nFf
https://dl.doubtnut.com/l/_4sRtLhw4ARRT
https://dl.doubtnut.com/l/_6ba6Bjvv8M1i

23 2 3 4 5 6

o Watch Video Solution

56. Find the median of the data : 25, 34, 31, 23, 22, 26, 35,

28, 20, 32.

o Watch Video Solution

57.The runs scored in a cricket match by 11 players is as
follows: 6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 15. Find the
mean, mode and median of this data. Are the three

same?

o Watch Video Solution



https://dl.doubtnut.com/l/_6ba6Bjvv8M1i
https://dl.doubtnut.com/l/_W92O3EBwv5qH
https://dl.doubtnut.com/l/_Xd3MFvjsQGOc

58. Find the median of the data:

o Watch Video Solution

59. Find the median of the values:

o Watch Video Solution

60. The median of the observation arranged in

ascending order is find the value of

o Watch Video Solution



https://dl.doubtnut.com/l/_Xd3MFvjsQGOc
https://dl.doubtnut.com/l/_69wAhbxGbtgV
https://dl.doubtnut.com/l/_npFMjEIatgN8
https://dl.doubtnut.com/l/_tAzj2033CDII
https://dl.doubtnut.com/l/_H2SQKjRjzZbm

61. Find the median of the data: if is replaced by what

will be the new median.

o Watch Video Solution

62. Find the median of the following data

o Watch Video Solution

63. Find the median of the following data

o Watch Video Solution

64. Find the median of the following data


https://dl.doubtnut.com/l/_H2SQKjRjzZbm
https://dl.doubtnut.com/l/_osUIcxCPUWmG
https://dl.doubtnut.com/l/_Jijqab27jVOt
https://dl.doubtnut.com/l/_w0QclU1XKN64

o Watch Video Solution

65. Find the median of the following data

° Watch Video Solution

66. Find the median of the following data

o Watch Video Solution

67. Find the median of the following data.

° Watch Video Solution



https://dl.doubtnut.com/l/_w0QclU1XKN64
https://dl.doubtnut.com/l/_TOdUdkIXDqpV
https://dl.doubtnut.com/l/_t2fujHF1Akac
https://dl.doubtnut.com/l/_yER2ZOT7gzwT
https://dl.doubtnut.com/l/_zKy9sqJP8liq

68. Find the median of the following data

o Watch Video Solution

69. Find the median of the following data

o Watch Video Solution

70. Numbers 50, 42, 35, 2z + 10, 2z, 8, 12, 11, 8, 6

are written in descending order and their median is 25,

find z".

A. 19

B. 20


https://dl.doubtnut.com/l/_zKy9sqJP8liq
https://dl.doubtnut.com/l/_rNZW185d0FVy
https://dl.doubtnut.com/l/_DSNvQgHPD39m

C. 21

D. 22

Answer: C

o Watch Video Solution

71. Find the median of the following observations: If 92
is replaced by 99 and 41 by 43 in the above data, find the

new median?

° Watch Video Solution



https://dl.doubtnut.com/l/_DSNvQgHPD39m
https://dl.doubtnut.com/l/_BVXHAGWOVjHo

72.Find the median of the following data: 41, 43, 127, 99,
61, 92, 71, 58, 57 if 58 is replaced by 85, what will be the

new median.

° Watch Video Solution

73. The weights (in kg) of 15 students are:
31,35,27,29,32,43,37,41,34,28,36,44,45,4230.  Find the
median. If the weight 44kg is replaced by 46 kg and 27kg

by 25 kg, find the new median.

o Watch Video Solution



https://dl.doubtnut.com/l/_nK967ij6G66o
https://dl.doubtnut.com/l/_gA4tYKdm8JqD

74. The following observations have been arranged in
ascending order. If the median of the data is 63, find the

value of x. 29, 32, 48, 50, x, x + 2,72, 78, 84, 95

o Watch Video Solution

75. Find the mode of the following data

10, 5, 20, 25, 10, 13, 17, 13, 22, 13

A.10

B.13

C. 17

D. 22


https://dl.doubtnut.com/l/_sbVJZRSBF2Uv
https://dl.doubtnut.com/l/_kiANuKFpocBW

Answer: B

o Watch Video Solution

76. Following are the margins of victory in the football
matches of a league. 1, 3,2,5,1,4,6,2,5,2,2,2,4,1,2,3,1,

1,2,3,2,6,4,3,2,1,1,4,2,1,5,3,3,2,3,2,4,2,1, 2

o Watch Video Solution

77.Find the mode of the data:

o Watch Video Solution



https://dl.doubtnut.com/l/_kiANuKFpocBW
https://dl.doubtnut.com/l/_TW8j08vjOND8
https://dl.doubtnut.com/l/_Pu5ZBuBpE4YA

78. The weight (in kg) of students of a class are: Find
the mode and median of this data. Is there more than

one mode?

° Watch Video Solution

79. Find the mode and median of the following data:

Also, find the mean by using the empirical relation.

° Watch Video Solution

80. Find the mode and median of the data: By using the

empirical relation also find the mean.

s ]


https://dl.doubtnut.com/l/_y3QRnDLOuAGB
https://dl.doubtnut.com/l/_8T3BGj1VJrQP
https://dl.doubtnut.com/l/_t1QFFoHgr4Pw

| 9 Watch Video solution J

81. Find the median and mode of the data:

o Watch Video Solution

82. Find the mode of the data:

o Watch Video Solution

8. The runs scored in a cricket match by 11 players are
as follows: Find the mean, mode and median of this

data.

o Watch Video Solution



https://dl.doubtnut.com/l/_t1QFFoHgr4Pw
https://dl.doubtnut.com/l/_D85tDGO3QPwu
https://dl.doubtnut.com/l/_TkzYGzFxUjFp
https://dl.doubtnut.com/l/_JeOmSoZ45z8v

84.Find the mode of the following data:

o Watch Video Solution

85. Heights of 25 children (in cm) in a school are as given
below:168, 165, 163, 160, 163, 161, 162, 164, 163, 162, 164, 163,
160, 163, 163, 164, 163, 160, 165, 163, 162 What is the mode

of heights?

o Watch Video Solution



https://dl.doubtnut.com/l/_JeOmSoZ45z8v
https://dl.doubtnut.com/l/_5HvP8eRyflaE
https://dl.doubtnut.com/l/_wjE0xYDDF30e

86. The scores in mathematics test (out of 25) of 15
students are as follows: Find the mode and median of

this data. Are they same?

° Watch Video Solution

87. Calculate the mean and median for the following
data:

Marks: 0 M 12 13 14 16 19
20

Number of students: 3 5 4 5 2 3

Using empirical formula, find its mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_gg3ag12klHP1
https://dl.doubtnut.com/l/_3Bbbk5z9vDRc

88. The following table shows the weights of 12 persons.
Weight (in kg): 48 50 52 54 58
Number of persons: 4 3 2 2 1
Find the median and mean weights. Using empirical

relation, calculate its mode.

o Watch Video Solution

89. If the mean of observations and is then

10 (b) 15 12 (d) 13

o Watch Video Solution



https://dl.doubtnut.com/l/_3Bbbk5z9vDRc
https://dl.doubtnut.com/l/_NY7lfvjrCzi5
https://dl.doubtnut.com/l/_qmJ5PkBNyrCz
https://dl.doubtnut.com/l/_EkcsHdikBstE

90. If the mean of observations is

43 (b) 42 44

then

(d) 45

o Watch Video Solution

91. Find the mean of first five natural numbers.

o Watch Video Solution

92. The mean of first five prime numbers is
(a) 5.6
(b) 5.5
(c) 54

(d) 5.2



https://dl.doubtnut.com/l/_EkcsHdikBstE
https://dl.doubtnut.com/l/_WVuJliyJEl8K
https://dl.doubtnut.com/l/_HMk5SPT2ea8i

o Watch Video Solution

93. The mean of first seven even natural numbers is
(a) 7
(b) 8
(c)9

(d) 6

o Watch Video Solution

94. The mean of first six multiples of 5 is
(a) 3.5

(b) 18.5


https://dl.doubtnut.com/l/_HMk5SPT2ea8i
https://dl.doubtnut.com/l/_izUheiGEc0MG
https://dl.doubtnut.com/l/_gVi43jBkfldw

(c) 17.5

(d) 30

o Watch Video Solution

95. The mean of 5 numbers is 4. If 1 is added to each
number , then the new mean is

(a) 4

(b) 5

(c)3

(d) 5.5

o Watch Video Solution



https://dl.doubtnut.com/l/_gVi43jBkfldw
https://dl.doubtnut.com/l/_LQ0MK5GS4DIh

96. If the sum of 10 observations is 95, then their mean is

A.9.5

B.10

C. 950

D. 95

Answer: A

o Watch Video Solution

97.If the mean of observations is 12 and the sum of the
observations is 132, then the value of number of terms

is


https://dl.doubtnut.com/l/_u6qMMGvln7fP
https://dl.doubtnut.com/l/_WahxEnyeX2QI

(a) 9
(b) 10
(c)11

(d) 12

o Watch Video Solution

98. The median of the data is 10

9 (d) None of these

(b) 1

o Watch Video Solution

99. The median of the data is 7

11 (d)10

(b) 9

| -


https://dl.doubtnut.com/l/_WahxEnyeX2QI
https://dl.doubtnut.com/l/_Q4rGKWBuXLhH
https://dl.doubtnut.com/l/_bhc46ajbVAjS

| & Watch Video Solution J

100. The mean of a data is 15 and the sum of the

observations is 195. The number of observations is

A.13

B.19

C.16

D. 17

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bhc46ajbVAjS
https://dl.doubtnut.com/l/_tkvrjjvHvEUp

101. The median of 11 observations is 10. The number of
possible observations in the data which are less than 10

is 5 (b) 63 (d) 10

o Watch Video Solution

102. If the mode of 22, 21, 23, 24, 21, 20, 23, 26, =

and 26 is 23, then z =

A. 20

B. 21

C. 23

D. 24


https://dl.doubtnut.com/l/_NUbTxoeAetPi
https://dl.doubtnut.com/l/_yMjKTTWljTXz

Answer: C

o Watch Video Solution

103. If the mean of and 7 is 7, then

6 (b)7 8 (d)9

o Watch Video Solution

104. The mean of is same as the mean of Then which of
the following is correct? p=q=r(b)g=r=sq=r

dp=r+s

o Watch Video Solution



https://dl.doubtnut.com/l/_yMjKTTWljTXz
https://dl.doubtnut.com/l/_zsxeCOTn67Xc
https://dl.doubtnut.com/l/_8BhfyZ7p0LRN

105. The mean of and is Then the median is
19 (b) 43 30 (d)

None of these

° Watch Video Solution

106. If the mean of 9, 10, 15, z, 6, 8 and 12 is 11 and is 11.

The median of the observations is

A 4

B.10

C.13

D.5


https://dl.doubtnut.com/l/_mLNdcAilueq4
https://dl.doubtnut.com/l/_dZlo42bissAx

Answer: B

o Watch Video Solution

107. The mode of the unimodular data and is 10. The
value of is 10 (b) 9

8 (d)n

o Watch Video Solution

108. The mean weight of 21 students is 21 kg. If a student
weighing 21 kg is removed from the group, then the
mean of the remaining students is

(a) 20 kg


https://dl.doubtnut.com/l/_dZlo42bissAx
https://dl.doubtnut.com/l/_vLAAUxwzdul6
https://dl.doubtnut.com/l/_I9sLVVJy81Fa

(b) 21 kg
(c) 19kg

(d) 18 kg

o Watch Video Solution

109. There are 7 observations in the data and their mean
is 11. If each observation is multiplied by 2, then the
mean of new observations is

(a) 1

(b) 13

(c) 22

(d) 5.5

o Watch Video Solution



https://dl.doubtnut.com/l/_I9sLVVJy81Fa
https://dl.doubtnut.com/l/_89OdVFkPbANA

110. The mean of 10 observations is 15. If one observation
15 is added, then the new mean is

(a) 16

(b) 11

(c)10

(d) 15

o Watch Video Solution

111. If the median of 10, 12, x, 6, 18 is 10, then which of the
following is correct. 6 < z < 10 (b) x < 6 (c)xr > 18 (d)

Either (a) or (b)

o Watch Video Solution



https://dl.doubtnut.com/l/_0mMU8FRMGjlH
https://dl.doubtnut.com/l/_kNXGtUsiI9pp

112. The mode of the data is 6. Which of the following
cannot be the value of ? 8 (b) 7

6 (d)9

o Watch Video Solution

113. For a frequency distribution, mean, median and

mode are connected by the relation

A. Mode = 3 Mean - 2 median

B. Mode = 2 Median - 3 Mean

C. Mode =3 Median - 2 Mean

D. Mode =3 Median + 2 Mean


https://dl.doubtnut.com/l/_2gmDUvNvt7wi
https://dl.doubtnut.com/l/_NG1s7MjI96L9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NG1s7MjI96L9

